L5(23).2

(mod 23)

blocks

defect

matrix

[\

O =

23 x 22

231 = X9,0, P12,1
232 = X9,1, P12,0

2.G:

23 x 22

Block 1:

¥1,0

®1,1

©2,0

¥2,1

©3,0

©3,1

¥4,0 P41

©5,0

©5,1

©6,0

©6,1

©7,0

11 =x1,0
o =x1,1
221 = X2+
225 = X4,0
223 = x4,1
224 = X5,0
225 = x5,1
226 = X6,0
227 = Xx6,1
228 = Xx7,0
229 = x71
22190 = X3,0
2211 = x8,1
241 = x10,0
245 = X101
243 = x11,0
244 = X111
245 = x12,0
246 = x12,1
247 = x13,0
248 = x13,1
249 = X14,0
2410 = X141

1




(Block 1:) | 97,1 @80 ¥s1 90 ®o1 Y100 101 P10 P11,
11 =x1,0
1o =x11
221 = X2+ .
222 = X470 . 1
223 = X4,1 1 .
224 = X5,0 1 .
225 = X5’1 1 .
226 = XG,O . 1
227 = Xﬁ,l . 1
228 = X710 1
229 = x71 .
2210 = X8,0 1 .
2211 = Xx8,1 1
241 = X100 .
242 = X101 1 .
243 = X110 : 1
244 = X111 . 1
245 = X12,0 1 .
246 = X1271 1 .
247 = Xx13,0 1 .
245 = x13,1 . 1
249 = X14,0 . 1
2410 = X14,1 1
Yo = 1Lt we1 = 1l
w11 = g wro = 13
w20 = 31 wr1 = 132
P21 = 32 ps0 = 151
©30 = 51 w1 = 152
©3,1 = 92 woo = 17
ws0 = T1 w91 = 17
w41 = T2 Y100 = 19
w50 = 9 w101 = 199
w51 = 92 pi1,0 = 214
weo = 114 p111 = 21



Block 4: ©13,0 ¥13,1 ¥L14,0 14,1 ¥P150 ¥P151 P16,0 Pi16,1  P17,0 P17,1 P18,0
2411 = X15+ . 1
2212 = X17,0 1 .

2213 = X171 1 .

2214 = X18,0 . 1

2215 = X18,1 1

2216 = X19,0

2217 = X191 .

2218 = X20,0 . 1

2219 = X20,1 1 .

2220 = X21,0 1 . .
2201 = X211 . 1 1
2299 = X220 1 .

2293 = X221 . 1

2415 = x23,0 1 .

2413 = X231 1 .

2414 = X240 1 .

2415 = X241 . 1

2416 = X25,0 1 .

2417 = X251 1 .

2418 = Xx26,0 1 .
2419 = X26,1 . 1
2490 = X27,0 . 1

2421 = X271 1




(Block 4:) | w181 @190 ©19,1 ©200 ©20,1 ©21,0 Y211 P20 P21 P30 P23.1
2411 = X154 1 :
2212 = X17,0 . 1
2213 = x17,1 . 1
2214 = X18,0 1 .
2215 = X181 1 .
2216 = X19,0 . 1
2217 = X191 . 1
2218 = X20,0 1 .
2219 = X20,1 . 1
2220 = X21,0 1
2291 = X211 .
22929 = X22,0 . 1
2223 = X221 1 .
2415 = Xx23,0 . 1
2413 = x23,1 . 1
2414 = X24,0 . 1
2415 = X241 1 .
2416 = X25,0 . 1
2417 = X251 . 1
2418 = X26,0 . 1
2419 = Xx26,1 1 .
2420 = X270 1 .
2421 = X271 1
Y130 = 21 p18,1 = 129
P31 = 2 o0 = 14
v = 4 Y191 = 149
P41 = 4o p20,0 = 161
p150 = 61 ©20,1 = 162
w151 = 62 w210 = 181
Y160 = 81 p21,1 = 18
Y161 = 32 w220 = 20;
w170 = 10q w21 = 202
P71 = 102 p23,0 = 229
P80 = 123 P231 = 223



